Mo has £232 in his bank account.

Rosie has £237 in her bank account.

Mo puts £9 into his bank account.

Rosie puts some money into her account.

Now they both have the same amount of money.

How much did Rosie put into her account?

Mo has £232 in his bank account.

Rosie has £237 in her bank account.

Mo puts £9 into his bank account.

Rosie puts some money into her account.

Now they both have the saume amount of moneuy.

How much did Rosie put into her account?

Mo has £232 in his bank account.

Rosie has £237 in her bank account.

Mo puts £9 into his bank account.

Rosie puts some money into her account.

Now they both have the sume amount of money.

How much did Rosie put into her account?




